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1. 

Two projects are being considered for implementation. The MARR is 20%, inflation is expected to be 3%. Calculate using Constant Dollars the present value of the costs of each project at Year 0. (show your answer in shorthand economic analysis form).

Year

Project A



Project B 

“Actual” Then-Current Costs

“Real” Constant Dollar Costs


1
106,000



110,000

2
109,000



110,000

3 112,000



110,000

4 113,000 



110,000

2.

(a) What is a Put option?

(b)  100 put options for the S&P 500 with a strike price of  1000 is purchased at a time when the market price of the S&P 500 is 1150 at a cost of $7 for each option. What is the profit or loss if the S&P 500 is 950 at the expiry date. 
